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Topic:- General Knowledge and Logical Knowledge

1) If BDFH is coded IKMO, then how is LNPR coded? / af¢ BDFH &Y IKMO ¥ ®ifsd far Srar g, ot
LNPR @1 $9 BIfgd forar s

1. SUWY
2. QOSU
3. RPNL

4. SUQO

Correct Answer :-

« SUWY

2) Find the odd one out: / Th ﬁwmaﬂﬁm
1. Tea and Coffee / TTT TUT BT

2. Cycle and Scooter / WHWW

3. Rifle and Sword / RISW ¢l dUT dIdR
4. Shirt and Tailor / HIST dUT ol

Correct Answer :-

« Shirt and Tailor / IS TUT oif

3) Find the odd one out: / TF fAUH JTd HIoIT;
1,11, 20, 28, 34, 41, 46
1.28

2. 11
()



3.34

4.41

Correct Answer :-

. 34

4) In an office there are the following positions: Who among the following is a production manager under

Mr. Sudhir? / T BTated § g ug §: Fufafaa & @ 19 gk & et Saurea udus g2

Gl Mz
I Kedur
|
( | [

Supervisot | Supsrisor 2 Supersor 3
Mr. Mabesh Mr. Gish br. Sudlis
! !
i L ]
| | i - U U ) |
Fuance Margger Sdss Muszer PodutonMusger  Frace Mosgr s Masger Procustion lanezer Sales Muazer Finree Marazer Froduction Ianszer
N o ) W 3 s M % 5, [ X A
Mok MiKud b Dt Wr. Rabin i ot Mifogep  BuMon  MrZder

1. Mr. Pradeep/%ﬁu_cﬂq
2. Mr. Ranit / 91 0

3. Mr. Dinesh / 8t fl&=1

4. Mr. Zaheer / 51 S8R

Correct Answer :-

* Mr. Pradeep / ftudiyg

5) In a certain code zep zap zik means catch the ball and zik tik lik means the blue shirt which is the word
for the in that language / Th W9 CAERTIL ] ﬁ, zep zap zik BT 3 ¥ catch the ball; zik tik lik BT 3 ¥ the blue
shirt BT 8| 39 HIS HTHT | the & T fory g &1 gwdwTa foran mar 32

1. lek
2. zik
3. zap

4, zep

Correct Answer :-

o Zik



6) In a certain code language, Talk to me means Tu Nam Pit; Give me that means Su Ram Nam; Give to him
means Pi Tu Su. Which is the word for Give to me in that code language? / Th W Bl HTHT ﬁ, Talk to me
&7 3 Tu Nam Pit; Give me that BI 31 su Ram Nam TYT Give to him BT 3 Pi Tu Su '{ﬁ?ﬂ %I EL | Oy
UTYT H Give to me ¥ oI 5w =eg o1 gwduTel fobe TR 82

1. PiTu Su
2. Pi Tu Ram
3. Nam Ram Su

4. Su Tu Nam

Correct Answer :-
e SuTuNam

7) If ANSWER is coded BMUUHO, then how is QUESTION coded? / Tf¢ ANSWER B BMUUHO | Pifed

g STt 8, Y QUESTION ) $ BT frar SREm?
1. RTFRUHPM
2. RTGQWFSJ
3. RTGQFWSJ

4. RTGQFWIS

Correct Answer :-

* RTGQWEFSJ

8) If BANGALORE is coded NABLAGERO, then how is HYDERABAD coded? / 'Qﬁ BANGALORE 1

NABLAGERO W P& farar Sirar B, 9t HYDERABAD B H1 HIfSd fHar wmawm?
1. HYDERADAB
2. HYDAREBAD
3. DYHERABAD

4. DYHAREDAB

Correct Answer :-

e DYHAREDAB

9) What is the probability of randomly drawing an Ace or a King card from a pack of cards in one attempt? /

?mﬁmﬁwﬂgﬁﬁuﬁ%mwﬁwma{wwmﬁwﬁﬁmﬁww

(4)
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1.
8
32
2.
2
52
3.
1
2
4,

Correct Answer :-

Ln
() | &

10) A river that originates in Tikamgarh is also referred as Pushpavati. The name of this river is /

ApTe A I 55 TP A1 Ford YouTaedt 91 A ST ST 8 1 S AN HTATH S
1. Panbatti / TSt

2. Ken/ &b+

3. Chambal / I

4. Pahuj / UGS

Correct Answer :-

« Pahuj/Ugyl

11) Who is the present Chief Minister of Kerala? / W & EIT'T'H'H H@Tﬁﬁ ﬁ? %‘?
1. Oommen Chandy / 3 et

2. AK. Antony / E%Q?ﬁ[

3. Pinarayi Vijayan / ﬁ:ﬂﬂg fasr

4. V.S. Achuthanandan / 91,09, 3{gdc

Correct Answer :-

« Pinarayi Vijayan / EEINEACECE]
(5)



12) On which date did the Modi government announce demonetization? / T aR e &1 Aidt ReR A
fagsio~or &t givon @t At

1. October 31,2016 / 31 3{agay, 2016
2. November 15, 2016 / 15 99X, 2016
3. November 8, 2016 / 8§ AdHIX, 2016

4. November 9, 2016 / 9 Ad¥sR, 2016

Correct Answer :-

« November 8, 2016 / 8 TIRIT, 2016

13) Which one of the following pacts sought to resolve the Hindu-Muslim differences? / ISL] ?I'H?.;ﬁ?ﬁ |

53 o A fEg-gaem= Tavsl o ga oA &1 7 3t A2
1. Lahore pact / TG IR T

2. Gandhi-Irwin Pact / Tit- 31 Gwiar

3. Poona Pact / GAT THSIAT

4. Lucknow pact / CId1% ﬂﬂgﬁ?ﬂ

Correct Answer :-

« Lucknow pact / TGS GHSIT

14) Which fort is said to be associated with the Ramayana? / DI §TleTl'I'Cl'UT | e Farar

82

1. Gohad Fort / ﬁe‘c: g’f

2. Bandhavgarh Fort / ST&[ETE gl
3. Malwa Fort / Hlc{dl @Tf

4. Narwar Fort / IRdIX E’{"f

Correct Answer :-

« Bandhavgarh Fort / rﬁw §Tf

15) Which of the following is the 28™ State of India? / R # & YRd &1 287 IST BT AT 8?2

1. Gorkhaland / ‘il?@la'g

(6)



2. Jharkhand / W
3. Uttarakhand / ScR1GS
4. Chhattisgarh / m

Correct Answer :-

o Jharkhand / IRTS

16) Which of the following banks is not authorized to open accounts under the Jan Dhan Yojana

scheme? /ﬁaﬁﬁﬁ'—rm%m WW%WW@@%WWWH%}%9
1. HSBC Bank / TIUHS IR §&
2. IDBI Bank / TS 81613/ S

3. ICICI Bank / 3T EISTSHISME §F
4, Union Bank of India / ?{[ﬁfq:f % 3 SfEar

Correct Answer :-

« HSBC Bank / TIUISI db

17) The playing time of the full version of the national anthem is approximately seconds. / XTEIMT
& YU HEHRUT BT IGTHTd AU IAPUS Tl

1.58
2.52
3. 68

4.75

Correct Answer :-

18) Gujari Mahal and Gwalior Mahal in Gwalior were built by / TqIferR | 'ﬂ\_rl'\& HEd 3R aIferaR
HEd 5% GRI T ™ &

1. Man Singh Tomar / Iﬂqﬁlg AR
2. Raja Bhoj / ST HISl

3. Raja Dumana / X[SIT gHIAT

4. Scindia Devi / T qat



Correct Answer :-

* Man Singh Tomar / o Rig iR

19) What is Saang a type of? / T Th UPR BT HT %?
1. Traditional food / TRURTTA HISH

2. Language / HIYT

3. Folk music / @ GTiid

4. Folk dance-theatre / b I ATl

Correct Answer :-

« Folk dance-theatre / Tl T TR

20) Amjad Ali Khan is a famous exponent of / STHGIG Gl?ﬁﬁm Wm %
1. Sitar / RYIR
2. Veena / 10T
3. Tabla / dddl
4. Sarod / TRIG

Correct Answer :-

e Sarod/ FR- Q

21) Who among the following is NOT one of the recipients of Arjuna Award 2015? / Ffadde= 31\_{I7'|'

REPR 2015 S UTdHAIS A § T 781 82

1. Dipa Karmakar (Gymnastics) / 10T SH®R (AT o)
2. Jitu Rai (Shooting) / SIIq I (RRMAETST)

3. PR. Sreejesh (Hockey) / U1, 3R, &SI (Biah))

4. Anoop Singh (Wrestling) / 3{-JU Rig @-‘&_‘ﬁaﬁﬁ)
Correct Answer :-

« Anoop Singh (Wrestling) / 3JU I @%ﬂa’mﬂ)

22) Pandit Ravi Shankar was well known for his mastery in / ufgazfa W%ﬂ 8-33[ o 3ot HelkRd *
ReuRis 2
(8)



1. Sitar/ ﬁl?ﬂ?
2. Violin / AT

3. Flute/w
4, Sarod / FR-]G

Correct Answer :-

« Sitar/ AR

23) “Tirthraj” is the name given to / «fyfRTer A 3'\& fear %
1. Amarkantak / 3R

2. Orchha township / 3RS Heal

3. Khajuraho / @Gﬂlé

4. Kanha national park / $T81 JFTT FeIH

Correct Answer :-

« Amarkantak / 3[ARhCh

24) The gas that leaked in the Bhopal Gas Tragedy in 1984 was / 1984 # HuTe T FrcH § R arett
T &

1. Carbon Monoxide / BT ﬁ:ﬁm
2. Carbon Dioxide / CACE @33{\@133

3. Methyl Chloride / IS FARZS
4. Methyl Isocyanate / MG 3{13@913_:]3

Correct Answer :-

« Methyl Isocyanate / furse smsgTse

25) Deodhar Trophy is related to which sport? / AR ﬁ'q’ﬁ fra vad wwEfgas?
1. Cricket / fohdre
2. Volleyball / dlciialicl

3. Football / pdid
4. Tennis / 9

©)



Correct Answer :-

¢ Cricket/ fpde

26) 24th Amendment deals with / 243 TRV ITQ T &

1. The procedure of the election of the president / ?quﬁf & g-Id GG
2. Scheduled caste and tribes / Hﬂ%ﬂ ST SR STeTfat

3. Fundamental rights / HHd SHYBR

4, Directive principles of state policy / X & Hifd Few® aa

Correct Answer :-

+ Fundamental rights / HdHd SINEAN

27) Gopal Krishna Gokhale founded the / AT P TR A BT RITIAT Pt
1. Bombay Presidency Association / St Uftet QF] RIURT

2. Servants of India society / HR<IT THIST & Hddh

3. Poona Sarvajanik sabha / Q\T‘ITW% HHI

4. Landholders’ Society / é’sél%é ?i’R:ns‘cﬁ

Correct Answer :-

« Servants of India society / HRAId JHS &b AP

28) The Fundamental Rights have been incorporated in which part of the Constitution of India? /

Tayd e RI & HRd & Adfaer & g um o wnfire fear mar g2
1.3
2.4
3.2

4.8

Correct Answer :-

29) According to India State of Forest Report — 2015, which State has highest forest cover in
the country? / ¥RT ¥ §7 RT1d-2015%F TR X1 & for 359 H T 3if¥es a7 3mes1e 82

(10)



1. Arunachal Pradesh / =TIl m
2. Andhra Pradesh / 3178 UcgT

3. Madhya Pradesh / H&J e

4. Nagaland / 1 ISE

Correct Answer :-

« Madhya Pradesh / H¥ o

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / -9 € T aar #, T=A13M FT UF HH IUFRRIT & | Tad IS Ugd—g
6,17,39,72,116, 171, 237, 314, 402, 500

1.72

2.314

3.237

4. 500

Correct Answer :-
« 500

31) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- =>Equal to
= =>Minus /

=i &1 rauriyds sreoaq w3 3R fAufafeaa & fow ue @l
Tg;

+ => Tom

* => YT

[ => T

- => P WIR

(11)



==>Ycld

(11=3)+2+ (40 * 2) * 4 + (1+10)
1. 600

2. 800

3. 1600

4. 400

Correct Answer :-

e 800

32) Complete the series choosing the missing number: / ol T AP T DI T PIfoTT:
11,13,17,23,31,

1. 47

2. 41

3.35

4. 39

Correct Answer :-

33) Complete the series choosing the missing number: |/ TGl JWAT FAB YT Bt GRT HIToIC:
3645,405,135,15, _

1.3

2. 10

3.5

4.1

Correct Answer :-

34) Select the option that is true about the Statements and Conclusions given:

Statements:
All markers are sketch pens
(12)



Some sketch pens are pencils

Conclusions:
I. Some pencils are not sketch pens
I1. All sketch pens are not marker /

I [qweq &1 791 ST Siife fT T wy=t iR fFewul & IR & 9t &:
B

T W W U §

o Wd I iR &

e

1. 59 IRE a T T €

11. T3t e O wreh? A €

1. neither conclusion I nor conclusion II follows / = &1 f5HY I 3R =1 gt fsHY 11 SITERUI X §
2. both conclusion I and II follows / F5BY I 3R 11 ST S{IRRUI % &

3. only conclusion II follows / Fad fSHY 1T SRV Bl &

4. only conclusion I follows / A -&hY I SIHRUT HT &

Correct Answer :-

« neither conclusion I nor conclusion IT follows / - fﬁ fAsp 1 Gﬁ? El 33[ fspy 11 ST GG %

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All knives are swords
Some swords are daggers

Conclusions:
I. Some knives are daggers
II. All knives are daggers /

I [Awer &1 T I i 3y T syt ik eyl & ar & Wdt &:
Y

Tt w1 deaR &

A

I O 91 TR §

11 9t a1 W §

(13)



1. neither conclusion I nor conclusion II follows / éjf ey 1 3R T é)[ frpe 11 S0 GG %

2. both conclusion I and II follows / FsHY 1 3R 11 &I ST D d g
3. only conclusion II follows / $Had Fhy 11 STFHRT hdl g
4. only conclusion I follows / Had ﬁ'@;ﬁh SIERU W_CIT%

Correct Answer :-

« neither conclusion I nor conclusion II follows / - éjf fAspy 1 G?R' Bl 33[ ey 11 SR aﬂﬁ%

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some boxes are bundles
Some bundles are boards

Conclusions:
I. Some boards are bundles
I1. Some boxes are boards /

39 fapeu &1 99 FIfor Sife e e syt ik el & ar § I8! 8
Y

PO T dSA g

PO A S &

o

I O §IS sSa &

ILPS TR aIS g

1. neither conclusion I nor conclusion II follows / 7 &1 f5BY 1 3R 71 €t fsat 11 STTRUI &l §
2. both conclusion I and T follows / FT5HH 1 3R 11 GFIT SITERUI 3 &

3. only conclusion II follows / A f5HY 11 TR BT |

4. only conelusion I follows / HId AR 1 STTRUI HRT §

Correct Answer :-

« only conclusion I follows / &I FTpy 1 SITARTT AT

37) Select the option that is true about the Statements and Conclusions given:

Statements:
Some mountains are hills
All hills are valleys

(14)



Conclusions:
I. Some mountains are valleys
I1. No hill is a mountain /

I I e BT T8 BT i T T YT iR fFepwl & IR & Wt &

YT

Tt ugrfsar ofear &

e

I. O Udd Tifeat &

11. B Wt vers) uda e &

1. neither conclusion I nor conclusion II follows / 7 B f5HH 1 SR 1 8 FhT 11 $F¥RUI Hdl §
2. both conclusion I and II follows / FT5HY I 3R 11 GIFT SIT¥RUT HRd &

3. only conclusion II follows / HId fSHY [T STHRUT HT &

4. only conclusion I follows / HId SR I SFITRVT Rl &

Correct Answer :-

« only conclusion I follows / Had ey 1 ST HRAT

38) Complete the series choosing the missing letter/s: / &l 3[ER/3M&RT DI ECCTEIER] G|
RT HIFC:

A EFRB,FG,C,
1.D

2. HI

3. GF

4. GH

Correct Answer :-

- GH

39) The series given below contains a sequence of numbers. Identify the incorrect combination: /

T <t € gEen §, TEe o1 Ue e SURRIT ¢ TTeld Hale UgHr-g:

11,2, 21,3,32,4,41,5,51,6

(15)



1. 11

2.51

3.21

4.32

Correct Answer :-

e« 32

40) Complete the series choosing the missing number: / Y&l ST D YEdl ) I PIfoT:

121, 169, 289, 361,529,
1. 625
2. 676
3.729

4. 841

Correct Answer :-
e 841

Topic:- Mental Ability and Mental Aptitude

1) |f the following two squares shown below overlap, which one of the following options

is formed? / At e g7 @1 Ffdcafa 817 & o B9 & ¥ &9 @1 tF Adeq a=icT 57

Col
!
! ——
I
' —_—
| : i
#—T—r—'——'
!
vl
—1—r
ll

(16)
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-

3.
) >
>

2) |n the sequence shown below, which figure comes next? / @ f&3r 71 HA &, Harelr
FTRcT it EI FREI?

j— ———— T P
<IN AT AN <D
{' R\_‘_/ ' \‘, Ll" \\,:'/ j\'h ||F . ff \5 r ,\’/a \
AN NS NS NS
\/ SN NN N
\‘\_ig,/r’, \<J{ L‘R___}’_‘;_.«-‘“ ﬁ""-,,_ _d_,“k

L I E v
Pt

(17)



4)

3)

HAREIR

)

Correct Answer :-

\

Rl

(18)

In the sequence shown below, which figure comes next? ! A &3 R o &, 79I 311?65% hiar &



The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

T3 G T e §, orerRy ofiv Sensil 1 v B Fiftd & | Tod e Ugaig:
i.trei8012rtie

ii.trei8012rtie

iii.trei8012rtie

iv.trei8012rfie

4. iii

Correct Answer :-

5) Two pipes can fill a tank in 10 hrs and 20 hrs, respectively. How long will they take to fill up the tank,
if they are used together? / I UTSU U ¢ I SHHIT: 10 T 3 20 B¢ H WX G&hd &1 g 3 ursy &
P TP 1Y WY, df ¢ HRA A ford=1m Iwg T2

1. 6 hrs 35 min / 6 T¢ 35 fiT
2. 6 hrs 30 min / 6 °¢ 30 fiFe

3. 6 hrs 40 min / 6 H¢ 40 fi=E
4. 6 hrs 45 min / 6 T¢ 45 BT

Correct Answer :-

« 6hrs40min/6H9¢ 40 e

6) The present age of a Man is 2 years more than four times the age of a Boy. Four years hence, Man’s
age will be 16 years more than twice the age of the boy. Find the present age of the Man. / T fed 1

TAHH 3T 3P TSP D1 AT F IR T A 2 99 3iRIP 31 4 9 18, IH ey #1 1Y ISP AP
P MY & SN W 16 Y 3P T | I safdad St qdd ST [T HIfTT |

1. 40
2.36
3.38

4. 30

(19)



Correct Answer :-
¢ 38

7) On selling tea at Rs. 40 per kg, a tea merchant incurs a loss of 10 %. Calculate the amount of tea sold,

if the total loss is Rs. 80. / T P STURY P T 40 TUYY Ui fpum 991 W, 10% ST gl g1 afe
IIP! Hd BT 80 FUY B, Al TP §RI 91 T3 AT Pt AT B 0T Do |

1. 19 kg / 19 T,
2.20 kg /20 fopuT.
3. 18 kg / 18 fob.
4. 17 kg / 17 T,

Correct Answer :-

. 18kg/18 T

8) What is the number of times 2079 is divided by 189, so that the remainder is less than 189? / 2079 G|

189 gRT fhait IR faurRra forar o T an 3, ot Auwe 189 A U A2
1. 12
2. 10
3.11

4.13

Correct Answer :-

9) What is the speed of a train of length 150 m, if it passes a pole in 5 sec? / 150 . dat wiwn:ﬁﬁ
Tfe 1 8, St U @ Y 5 9. § UR $el 32

1. 110 kmph / 110 fobHit. Ufd gieT
2. 111 kmph / 111 ot ufcr ger
3. 108 kmph / 108 fopHT. Tifct ger
4. 100 kmph / 100 foHt. Ufd der

Correct Answer :-

« 108 kmph / 108 fHT. Tfd gieT



10) What is the difference between the smallest 5-digit number and the largest 3-digit number? / 5 3Pl

aTell Gad DI T-AT dUT 3 3] aTell JaA TS! T=AT BT 3iaR fopa=r grm?
1. 9999
2. 9000
3. 9001

4. 10000

Correct Answer :-

« 9001

11) Two individuals X and Y can assemble a machine in 12 days. If Y alone can assemble it in 48 days;

then, X can assemble it single-handedly in: /E-TGT%I'X HWYWW?@' 12 ﬁ:fﬁ' Waﬂa%l
uﬁY%%sﬂmﬁﬂaﬁwﬁﬁﬁaﬁﬁmmW%,a}xmgﬁ%ﬁﬁ?ﬁﬁmw
Hhdl g?

1. 40 days / 40 f&=1
2. 24 days / 24 f&1
3. 16 days/ 16 fe

4. 20 days / 20 T

Correct Answer :-
« 16 days/ 16 &l

12) If Shahid bought a table for Rs. 200 and sold it for Rs. 250, then, what is his gain percentage? /T-Iﬁ'

TMfeE A T AW 200 UG § WIS 3R 250 FUA A 99 &, 9 SHBT ATH Uia=rd &1 82
1. 45 %
2.25%
3.35 %

4.15%

Correct Answer :-

« 25%

13) The least square number divisible by 5, 6, and 10 is: / 5, 6, 3% 10 ¥ fAUTRTG X aTeht IR B
= A #:

(21)



1. 1600
2. 600
3.900

4. 300

Correct Answer :-

« 900

14) If the average marks of three batches of 50, 60 and 70 students respectively is 65, 50 and 80, then the

average marks of all the students is: / afe 50, 60 TUT 70 faenfyal arer i+ CEIkd m 3l Gﬁ'\‘l—d
SPH: 65, 50 91X 80 3, A T Frenrefat 2 Sfere Tetiap Foret &

1. 66
2.55
3.62

4. 60

Correct Answer :-

15) If the diagonal of a rectangle is 10 cm and is twice the width, then what would be its area? /uﬁw

3T P1 Ao 10 A § SR STD AISTS BT GHT 7, @ STDT B T SHM?
25rsqcmf w’_a?‘rﬁﬁr

10443 sqem /1043 a1 ST

1253 sgem / 1253 & gt
3.

4.25sqem/25 aif it

Correct Answer :-

253 sgem / Eixﬁfﬁ% AT

16)
(22)



A gets Rs. 33 when a sum of money was distributed among A, B, and C in the ratio of 3 : 2 : 5. What will
be the sum of money? / SId Th ‘éFR'IfQTEﬁA, B, AIRCHFAI3:2: 5%Wﬁmm%,a}A
I 33 FUY UT BId § | YFRTIRT BT IRT T GRI?

1. 99
2. 111
3. 110

4. 121

Correct Answer :-

17) A person spends 75 % of his salary. If his salary is increased by 20 %, and he increases his
expenditure by 10 %, find the percentage increase in his savings. / T fad U+ e BT 75% Gd
HIAT 21 TS ITF A9 A 20% Y giS 1 1Y, SR 98 30 W 7 10% Y gfg $2 @, 7 ST 79a
T UII=Id 3T ST |

1.30 %
2. 60 %
3.40 %

4.50 %

Correct Answer :-

« 50%

18) Rani's present age is two-fifth of the age of her father. After 8 years, she will be one-half of the age of
her father. How old is the father at present? / IT-i1 ®1 3y I fUar ot Sy $12/5 81 8 IUl & 91, I8
3= firar &1 oy @ eelt g set | ST frar Y adu oy fhaeit 82

1. 40 years / 40 Gl
2. 32 years /32 Gl
3. 48 years / 48 Gl

4. 36 years / 36 Gl

Correct Answer :-

e 40 years /40 CL

(23)



There would be a 10% loss, if a toy is sold at Rs. 10.80 per piece. At what price should it be sold to earn a

profit of 20%? / Tfc T f& BT 10.80 FUT ufa FiT T 31 SI1aT 8, Y 10% B il 81 3 20% BT
ATYH UTW H=A & [T 59 gea uR 391 S 91 e?

1. Rs. 12.00
2. Rs. 13.20
3. Rs. 14.40

4. Rs. 12.96

Correct Answer :-

» Rs. 14.40

20) Shiva's age is twice the age of Sneha. Sneha's age is one-third of her father, Sriram's age. If Sriram is
36 years old, then what is Shiva's age? / TRTaT &1 1K eI Bt S G4l a"fﬂ HEsEE S D
T, iR 1 oy Ft var-faeTE 31 afe fivra #Y my 36 9 8, o Rrar Y 3y fpasit 82

1. 24 years / 24 CL
2. 6years/ 6 Gl
3. 48 years / 48 ¥

4. 36 years / 36 GL

Correct Answer :-

o 24 years/ 24 CL

21) In a 50 litre can; milk and water is in the ratio 3 : 1. If the ratio has to be made 1 : 3, then the
quantity of water that has to be added further is: / b 50 F’ﬂﬁaﬂﬁ, [%:) AMRU3:1F ST | %I
afe 39 IUTd P! 1 : 3 forar I 8, O 1 ° fAree o= el 5 @1 sifafver wmm o= gt

1. 120 litre / 120 qex
2. 100 litre / 100 T
3. 80 litre / 80 TN

4, 90 litre /90 E«ilaz

Correct Answer :-

« 100 litre / 100 Tl

22) In a school, 65 % students are girls. All the students contribute towards raising a fund for a social
cause. All the girls contribute 40 % of the total fund. If the total fund to be raised is Rs. 18,550, and the

(24)



contribution of each boy is Rs. 265, then, the contribution of each girl should be: / TS faeamaa o 65%
foen<ff asfeal &1 It faendf arfore orf & fore «=R1fT ves 91 # 9RreM ®ea &1 9t
dsfral A $d URIR F 40% BT AT fpar| af Tha &) 5 arelt oo Y=RIRT 18,550 U §,
sﬁvmmmﬁmﬂmswﬁ% @ TP dSH! BT ARG A= g1

1. Rs. 85.31/85.31 344
2. Rs. 88.22 / 88.22 ST
3.Rs. 95.13/95.13 3T

4. Rs. 90.26 /90.26 3T

Correct Answer :-

« Rs.95.13/95.13 309

23) In a digital calculator, the digits 2, 5, 8 and 4 are not working. If it is a-6-digit calculator, what can be
the maximum difference between 2 numbers (both the numbers are > 0 and are formed without
repetition of any digit) using this calculator? / Y& fsforea Wﬂ T siw 2,5,8 7T 4 H‘Tﬁfﬂﬁaﬂ'
B 21 Tfe Ig 6 3i% aTe FaAF A §, A1 $H Papac BT SUINT HId §U 2 TR (GH1 9= 0
T IS 3l A T & 3R S99 3ieh] B ST a1 71 8) b U AfUSaH fPa-r iR g1 Apar g2

1. 976310
2. 872631
3. 772631

4. 171631

Correct Answer :-

« 976310

24) The arithmetic mean of 35 numbers is calculated to be 75. If each number is increased by 6, then the
mean of the new number will be: / 35 TG BT THIIR HIH 75 %I HﬁWﬂ'@Tﬁ 6 aﬂq@e‘r
STE, Y S |1 1 |Iey e ghm:

1. 41
2.6
3.55

4. 81

Correct Answer :-



25) An alloy contains copper and zinc in the ratio 8 : 3. If the alloy contains 18 kg zinc, then the quantity
of copper in the alloy is: /Wﬁ-‘[&[ﬂl’g’ﬁﬂiﬁTﬁﬂTWS :3 %\ﬂﬂ'ﬂﬁﬁ%l gfe frgror # 18 fam. sar
&, df aid $1 A7 o g

1. 58 kg / 58 fobuII.
2. 48 kg / 48 fopuIT.
3.28 kg /28 T,

4. 68 kg / 68 T,

Correct Answer :-

« 48 kg /48 TohHI.

26) If Peter can hire 6 men for 11 days and he pays $462, then how many men he can hire if he has $420

and he needs them for 15 days? /uﬁrﬂaﬁhﬁrﬁ 11 ﬁ?%mmwm%aﬁ?ﬁ $462 DI
YT HRdl 8 | TS IHD TRT $420 B 3R 3F 15 o7 & fore @il 1 10 IR 1A & sa=asan g,
@ 98 foraq AN &1 B9 UR @ IHhdl g2

1.4
2.7
3.5

4.8

Correct Answer :-

« 4

27) Ram bought an iPhone for Rs.75,000, Mac book for Rs.95,000, iPad for Rs.30,000 and sold all the
items to Shyam at an average price of Rs.70,000. How much Profit did Ram made out of the deal? /ITH a3

TS 3MMS B 75,000 YT BT, AP gP 95,000 FUY, ATFUS 30,000 FUY H @WIeT 3R 377 AR aeg3i &1
70,000 UA & 3T You R TG &1 39 faam| 39 A 59 IS | fovaan anw orfsta fan?

1. Rs.11,000/ 11,000 3T
2. Rs.12,000 / 12,000 BTT
3. Rs.10,000 / 10,000 ST

4. Rs.10,500 / 10,500 ST

Correct Answer :-

« Rs.10,000/ 10,000 SUY



28) A train of 120 m long is running with a speed of 65 kmph. In what time will it pass a man who is
running at a speed of 5 kmph in the same direction in which the train is running. / T 120 . Eiﬂé arelt
YETSY 65 fanet. fer det o If & =1 61 31 g Yarms! 5 feeh. ufer der o5t e @ Yenst 7 fa=m
¥ gIeA a1t TS Afe PI fba ¥0g # IR o aft?

1.5.8sec/5.8 @
2.6.6sec/6.69.
3.84sec/84 9.

4,72sec/7.2 @

Correct Answer :-
o 72sec/7.2 @

29) Find the average. / e T
31,41,51,61,71 & 81

1. 56

2.58

3.53

4. 60

Correct Answer :-
e 56

30) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEE] %a ™

IR Udl # F = {33 TR ud & St HH DI 91 U 181 82

Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

(i) Hyva Belgium N.V. - S.A.
Industriepark / Z.I. Blauwe Steen,

Blauwe Steenstraat 85

(27)



2550 Kontich, Belgium

(ii) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2555 Kontich, Belgium

(iii) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

(iv) Hyva Belgium N.V. - S.A.
Industriepark / Z.I. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

4. iii

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) (888)" A = (888)® Which of the following would come in the A to make the expression true? /
(888) A = (888)} 3T U5  TeH aa o ow A% e W Tea & ¥ ®id o g
3TaefT?

L x 888

(28)



2.+ 888

3.+ 888

4. X8

Correct Answer :-

X 888

2) Inthe given figure, sides AB and AD of quadrilateral ABCD are producedto E and F.
respectively. If 2ZCBE = 100°, then ~CDF = . Ru 9w i &, Tpist ABCD &7 sgeid

AB T AD.waer: E 3K F o @es 1% §1 °ig ®ioT 2CBE = 100°, ot 2£CDF =

4,110

Correct Answer :-

[+]

« 80
3) (5.5)*— (3.5)* (5.5)%— (3.5)*
(5.5)%+ (5.5)° is equal to: (5.5)%+ (5.5)% PR e:

1. 180

2. 18
3.42.5
4.1.8

(29)



Correct Answer :-

o 18
4) An image that cannot be obtained on a screen is called a/an . [ D QHT yfafas for@ T-R%
TR UTwd T8 fpar o 9, Pgard gl

1. erect image / Sud it ufafss
2. virtual image / ST gfdfda

3. real image / qride uldfdd

4. inverted image / seiefidf ufafds

Correct Answer :-

e virtual image / SR gfafda

5) In a single throw of a die, what is the probability of getting a number greater than 1? / T® IR
i1 B WX, 1 H 3HTIF WS UTed H Bi fha=it FHTIAT giell 82

] o |

w |

U=

4.

Correct Answer :-

oy |

6) Deep and Rakesh have a total of 160 stamps. Deep has 10 more stamps than Rakesh. How

many stamps does Deep have?/ﬁﬂéﬁ?mﬁww 160 WU g1 aﬁu%wmaﬁmﬁ' 10
ftre Wu §1 o & o freq Wu §2

(30)



2. 100
3.85

4. 75

Correct Answer :-

e 85

7) A boy sold his cap for Rs. 24 and got a profit percentage numerically equal to the cost price.

The cost price of the cap is: /WE@%M%ME‘?W&&@?WW@WW%
ISR yfa=rd oy ure fhar| et &1 ara gea A 8

1.Rs. 20/20°%.
2.Rs. 18/18%.
3.Rs. 15/15%.

4, Rs.22/22%.

Correct Answer :-

« Rs.20/20%.

8) Areaofa square plot is 6050cm?. Length of its diagonal is: | TBR WiE BT TG 6050 T
94, 31 59 fawof oY darg e g1

1.55V2m
2.55m

3. 110m

4, 100m

Correct Answer :-

e 110m

9) Which of the following is a perfect cube? / %=1 & I ®I-1 3} T qof a1 32
1.270

2.2700
(31)



3.256

4.216

Correct Answer :-

- 216

10) Which one of the following is a plant disease caused by bacteria? Feddsaar TP
IFIAT F HRUT A Tl UGy VT

1. Yellow vein mosaic of Bhendi / TSl &1 Uler fRR1 Aol
2. Rust of wheat / ﬁ_§' o1 fbg

3. Citrus canker / RIcH FHA

4. Blight of potato / B{IF;L‘\’ﬁUTﬂT

Correct Answer :-

« Citrus canker / ﬁl@ﬂw

11) The radii of two right circular cylinders are in the ratio 3:4 and heights are in the ratio 4:5.
The ratio of their curved surface area is: / G THDIT Qc_vﬂ'q CERIE] = 3:4 F SIUTd | % 3R
IAP! HEATST 4:5 P U H &1 3P I YSS &A% BT T A 8:

1.3:5
2.2:5
3.2:3

4.1:3

Correct Answer :-

12) The measure of an angle is five times its complement. The angle measures: / T DIV BT AT

3P R I UTT AT ¢ | BT T A9 = &

c

1. 80

c

2.75

[+]

3.30

(32)



[+]

4,15

Correct Answer :-

[+]

13) The difference between the simple interest received from different banks on Rs. 8000 for 2
years is Rs. 20. The difference of the interest rates of two banks in percentage point is: / f34+1-

fﬁ-—rrgﬁﬁsoooawzﬁﬁmwwmﬁﬁzoaél 3 9P P ATl & | yfawra § iR
=8

1.2%
2.0.5%
3.12.5%
4. 5%

Correct Answer :-

e 12.5%

14) The exterior angle of a regular polygon is one-third of its interior angle. The number of
sides of the polygon is: / T fHAIfid TgY &1 9T HIUT TP SATAND BV BT TH-fAgT 81 TgYS i
yerrafi &1 "= e gt

1.5
2.6
3.7

4.8

Correct Answer :-

15) What is the maximum number of students in which 175 bananas and 105 oranges can be
equally divided? / BT @ Sifirdaw T 1 8 W 175 Fal qUT 105 FaX SRTGR-SRTER sie ol Jba

2
1. 140

2.5

3.105

(33)



4.35

Correct Answer :-

« 35

16) What is the smallest number by which 16562 should be divided so that the result is a perfect
square? / fra BIET | BT GBAT A 16562 B! fquTiora fopar wire fos ufvomedt Tem gof o g2

1.3
2.2
3.91

4.31

Correct Answer :-
« 2

17) Rancidity of oils and fats can be avoided by using ./ o aUT 99T BI ﬁ?d Tiferar &
& SUANT RT 94T oI 9hal 5 |

1. antioxidant / AT HRS (@&ﬁﬁ@a
2. antibiotic/ﬂﬁlam (Q_CﬁEITCm%@

3. colouring agent / T HR&

4. preservatives / URY&®

Correct Answer :-

. antioxidant/ﬂﬁﬁ{\ﬁ'\‘:ﬁw (Qﬁerﬁ’a'\rﬁéa

18) How is a disease diagonised? / I BT FgE B fpaT wIrar 22

1. Signs of the disease will decide the basis of the symptoms /ﬁ‘T% ﬁl'_‘é', &N BT YR Rl B3
2. Signs and symptoms of the disease / TP g 3R TefuT

3. Symptoms may indicate a disease/ﬂ&mﬁﬂﬁmmm%
4. The body systems will be worsened / TRR Wﬂ?ﬁﬁ"'ﬂgﬁi Q‘il

Correct Answer :-

« Signs of the disease will decide the basis of the symptoms / T H ﬁl%, 0N BT YR R &

(34)



19) Which of the following is NOT a component of biotic community? AT I Trsia JYqld &l

3aYq T 82
1. Decomposer / UUCH

2. Consumer / SUHIET

3. Soil / Hal
4, Producer/m

Correct Answer :-

20) Which one of the organisms is likely to have maximum concentration of harmful chemical DDT in the
aquatic food chain consisting of King fisher, zoo plankton, fish, and phytoplankton? /ﬁ)‘ﬂﬁﬂ]’\r

mirera®, Ao, mmwﬁﬁwﬂmmﬁﬁﬂﬁwcﬂaﬁsﬁwm
SIS Pt iftrepaw Aigar e B FHTET ERI?

1. Zooplankton / gTfoTTd

2. Phytoplankton / OTqU Widdh
3. King fisher / fHITHRR

4. Fish / Heail

Correct Answer :-

» King fisher/ RPN

21) The total amount of water on earth is maintained by: / q?ﬂ TR oI Dt o HIEAT DI 59D GRT
ST T STl o

1. Rain /N

2. Condensation / g
3. Evaporation /digq+q
4. Water cycle / oI dsh

Correct Answer :-

« Water cycle / ST b

(35)



22) What is chlorenchyma? / Eﬁ?l' Ghdd R %'?

1. It is collenchyma containing chloroplasts. / g TANID REN gRadd® gl

2. It is parenchyma containing air / 98 HJgd® Jod dig gl

3. It is parenchyma containing chloroplasts. / g Hgdd Y S EGNEEE %I

4. It is sclerenchyma containing chloroplasts. / 9% Ecg?ldcb gad gRaaas gl

Correct Answer :-

« It is parenchyma containing chloroplasts. / g Hgdd o gRdaa® %l

23) Male gametes or sperms are produced in the: / TI™® T IATY] (VHeH a1 ¥i) 390 fAffa
HCAH

1. Ovaries / 3SR

2. Penis / TR

3. Testis / 9UUT

4. Sperm ducts / Y[sh qrfg=it

Correct Answer :-

 Testis / gUUT

24) Which of the following represents a correct food chain? / Eﬁﬁﬁqm URER ]| P fAefa srare?

1. Frog — eagle — insects — grass — snake / He® — &g —Pls —UN —IT
2. Grass — insects — frog — snake — eagle / I —®I8 —He® — I - TS
3. Grass— frog — insects — eagle— snake / 9N —He® -»Dls — THS — T

4. Frog — snake — insects — grass — eagle /Hed— bid — ﬁé —YH 5T g

Correct Answer :-
« Grass — insects — frog — snake — eagle / 9 —®I8 —He® — TT — TES

25) A device which converts electrical energy into mechanical energy is: /%gua ol B gife et A
AT H arell T fSarsw e gt &:

1. Electric generator / [dgad SFReR
2. Electric transformer / ﬁgm @ﬂcﬁ‘ﬁ?

3. Electric conductor / ﬁ@ﬁ ElNED
(36)



4. Electric motor / ﬁ_g{qﬁ iR

Correct Answer :-

« Electric motor / fagad Alex

26) The defect due to which a person is not able to see the distant objects clearly is called ./49%

faoR e FRUAff R It agel Bl e U A A st glarg,  Fgargl
1. Hypermetropia / G SV &G

2. Cornea / =T

3. Myopia / e eday

4, Cataract / Tfcafag

Correct Answer :-

« Myopia / Fi&c BEEL

27) Which phylum has animals without tissues, body bearing pores? / ﬁ)_\qm i Hhdd, IRR YRS IH

Xfed T EIA &2

1. Mollusca / TICRGT
2. Porifera / TRIURT

3. Cnidarian / RISRE

4. Echinodermata / Uh 37‘i 3nial

Correct Answer :-

o Porifera / TRIGRT

28) Husk of the coconut is made of tissues. / ATINTd BT ST Sddi A
CE RG]

1. collenchyma | TSI

2. xylem and phloem /W?‘Rﬂtﬁ‘ﬁ@
3. scerids / THINS

4. sclerenchyma /E_t'_.ﬁ?ﬁﬁ

Correct Answer :-

« sclerenchyma /%‘Qﬁ%
(37)



29) Vehicles have treaded tyres so that it: / a13=ﬁ i a@?{ TR Eﬁ?f % e
1. Decreases friction / Tyu ¢

2. Decreases speed / T &H &l

3. Increases speed / 7T IfI® &I

4. Increases friction / Y] EI%

Correct Answer :-

» Increases friction / gefur 'él%

30) (9m° + 12m?*-6m2) + 3m?2 =
1.3m> +4m? - 2

2. 3m> + 12m* — 6m?

3.3m3

4.3m’ + 4m* — 2m?

Correct Answer :-

e 3m3+4m2-2

(38)



